<op/p. > (%)

x107°

o
TIT [T T [ TI T[T T[T I T I T[rrrT

.....

e -

T Ty $F 41" v

-2

-1

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

........................

........................

......

......

-2

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__mkFit-DQM_original

—— DQM_TT__mkFit-DQM_original_newwindows

(@)
TIT T T[T [TI [ IP [T T[T [T [ TTr Tt

3

)
£ O
=T

0 1 2 3

TTT T TT T T TITTTT

I

1 S PR
B A S o
E 1 L R PR .

. L. | - |

o 1 2 3
TP n (PCA to beamline)

L o

-y

=
O
5 o O

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


